
a=15, d=2

Thesecondandfifthtermsofageometric

seriesare0.5and32respectively.

Findthefirsttermandthecommonratio.
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Write
an

equ
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r "t

he
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an
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is 2

5"

W
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first15
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s
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a
G
P
is
25"

The sum of the first six terms of an arithmetic

series is 213 and the sum of the first ten terms

of the series is 295.

Find the first term and the common difference.

Thefirsttermofageometricseriesis16

andthecommonratiois1.5.Findthe

leastvalueofnforwhichthesumofthe

firstntermsisgreaterthan30000.
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Write
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r

"th
e 1

5th
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n A

P is
25"

Find
the

15th
term

of
the

series
3+

6+
12+

...

The
firs

t an
d fo

urt
h te

rms
of a

geo
me

tric
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ies

are
5 a

nd
40

res
pec

tive
ly.

Fin
d th

e c
om

mo
n ra

tio.

a=
86,d=

−
7

Find the sum to infinity of the series

270+90+30+...

312.5
18

the
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la f
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n,
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sum
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firs
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1

a+14d=25 W
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te
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n
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r
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G
P
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"
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a=0.125, r=4

a=216,r=
1
3

17

The
firs

t an
d th

ird
term

s of
an

arit
hm

etic

ser
ies

are
21

and
27

res
pec

tive
ly.

Fin
d th

e c
om

mo
n d

iffe
ren

ce.

152
[2a+

14d]=
25

a geometric series

a+(n−1)d

T
he

fi
rs
tt
hr
ee

te
rm

s
of

an
ar
ith

m
et
ic

se
ri
es

ar
e
(k
+
2)
,(
2k
+
3)

an
d
(4
k
−
2)

re
sp
ec
tiv

el
y.

Fi
nd

th
e
va
lu
e
of

th
e
co
ns
ta
nt

k.

a(1
−r14

) 1−
r=25

A geo
me

tric
ser

ies
has

firs
t te

rm
80

and

com
mo

n ra
tio

0.2
. F

ind
the

diff
ere

nce

bet
we

en
the

sum
to i

nfin
ity

of t
he
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ies

and
the

sum
of t

he
firs

t si
x te

rm
s.

ar 14=
25

1
2

Th
e th

ird
and

fou
rth

term
s of

a g
eom

etri
c

ser
ies

are
24

and
8 re

spe
ctiv

ely
.

Fin
d th

e fi
rst

term
and

the
com

mo
n ra

tio.

2

the formula for S
n , the sum of the first

n terms of an arithmetic series series, is

F
or

a
ge
om

et
ri
c
se
ri
es

to
po

ss
es
s
a
su
m

to
in
fi
ni
ty
,t
he
n

the
for

mu
la f

or u
n,
the

nth
term

of a
geo

me
tric

ser
ies

, is

the
form

ula
for

u
n ,the

nth
term

of
an

arithm
etic

series,is

−1<r<1 Fi
nd

th
e
15

th
te
rm

of
th
e
se
ri
es

3
+
5
+
7+

...
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0.0064

Findthesumtoinfinityoftheseries

12+6+3+1.5+...

40
5

3+
9+

27+
81+

...

is a
n e

xam
ple

of ..
.

4+
10+

16+
22+

...
is
an

exam
ple

of...

The second and fifth terms of an arithmetic

series are 13 and 46 respectively.

Find the first term and the common difference.

T
he

th
ir
d
an
d
ei
gh

th
te
rm

s
of

an
ar
it
hm

et
ic

se
ri
es

ar
e
72

an
d
37

re
sp
ec
ti
ve
ly
.

F
in
d
th
e
fi
rs
tt
er
m

an
d
th
e
co
m
m
on

di
ff
er
en
ce
.

a=2
,d=

11

The
fift

h te
rm

of a
n a

rith
me

tic
ser

ies
is 2

3 a
nd

the
sum

of t
he

firs
t 10

term
s of

the
ser

ies
is 2

40.

Fin
d th

e fi
rst

term
and

the
com

mo
n d

iffe
ren

ce

of t
he

ser
ies
.

3

491
52

The
com

mo
n ra

tio
of a

geo
me

tric
ser

ies
is

0.5
5 a

nd
the

sum
to i

nfi
nity

of t
he

ser
ies

is 4
0.

Fin
d th

e fi
rst

term
of t

he
ser

ies
.

31

a(1− r n)1−r

n
2
[2a+(n−1)d]

F
in
d
th
e
su
m

of
th
e
fi
rs
t8

m
ul
ti
pl
es

of
3.

a=4
3,d
=−

3

108

F
ind

the
sum

to
infinity

of
the

series
500−

300+
180−

...

an arithmetic series

Thenineteenthandtwentiethtermsofa

geometricseriesare5000and2500

respectively.Findthecommonratio.
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